EXERCISE 3.2

SOLUTION
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Find the tnpub-and ovtput tmpedances Z; and Z,
in factored pole—zero form, and sketch the
mu!nt'l'udx ard phase Mﬂmp‘f‘n'f'{s; -ﬁor Lach of
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Exercse.
Evnd Hie twpul and nu{-puf" t‘rinlluui = and Z,
in f-cf'ﬂnaL pele—zere -Fom'-f:x.l sketch the
nitude and phase asgm <3 Lach of
rl-:ﬂ 4o nl.i-wntlns: i 4 f‘”‘
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Exerase. |

Find Hthe tnpal and uu-f-puf* frp-etlms Z. ad Z
In -{—u:bui raL-sm -Fum,',:rl sketch the

itude and phase ay €3 Cack of
rl;.ﬁ n'i'ﬂﬁ n:{-uufh‘: =P ! f‘“ .
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	1.   00:00
	2.   00:05
	3.   00:15
	4.   00:53
	5.   02:00
	6.   02:45

